SN MHAST
HE: AN X DB (SYHSSA/YY - ME)
Sl X&IHsE MERRIY A (B9 &9)
66,398, 147 67,414,397 21,016,250
= 42,946,306
py 8,460,000
bl 640,000
= 14,351,841
LR JIX DB (SPHY /YUY - HE) 66,203,831 67,353,253 £1,149,422
2 42,908,218
X 8,460,000
p] 640,000
< 14,195,613
X&obss METAZY £ 125,000 179,412 54,412
= 17,500
= 107,500
MK DE 98 MEFHEX 100,000 100,000 0
201 YEr | 1,000 1,000 0
01 AR 22l 1,000 1,000 0
OUYFHMET ARR2IY| 1,000
202 Of bl 54,000 54,000 0
01 2LHOTYI 14,000 14,000 0
OUYZHEZ ofYl 14,000
04 =301t 40,000 40,000 0
OUTAIY HIIDIYS 2YYP =8 40,000
203 YRETY| 45,000 45,000 0
03 NHERYRETY| 45,000 45,000 0
ODNEZ =M=X PH AM 23 10,000
ONEA SMAF A XX 10,000
OUEBYR0F BB AH =X 20,000
CUEFHINYL YRS 5,000
ARE ZYRE BIH(2D) 25,000 79,412 A54,412
2 17,500
= 7,500
201 LB | 17,000 17,000 0
2 11,900
[ 5,100
01 Al 22l 15,000 15,000 0
OANSHASHLBRE A2 B2 15,000
2 10,500
< 4,500
02 22| 2,000 2,000 0
OASREZYZEBRE TR 2,000
2 1,400
= 600
202 04t 8,000 8,000 0
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(sun) /dl M%l EQE e
. o i -
[ 2,400
01 22U NI 8,000 8,000 0
OANSEEAYEEBTE 2UHOIHI 8,000
= 5,600
[ 2,400
X£oHsst ArRlF |8 RS 98,800 155,064 56,264
= 76,000
[ 22,800
MEFINE =S (2D) 98,800 155,064 56,264
= 76,000
[ 22,800
403 REXISHH S K201 ™ 98,800 155,064 L56,264
= 76,000
= 22,800
01 XtXISHHREE X 98,800 155,064 56,264
OANREZIYNEZYS 98,800
= 76,000
[ 22,800
ST ASF 10,419,880 10,586,510 166,630
= 6,860,054
Xl 1,720,000
[ 1,839,826
FOASE KA =X 276,500 306,900 30,400
201 L B2 H 3,500 1,900 1,600
01 At Z2IH 2,000 1,000 1,000
OMEASE0F Z2A ALY 2,000
03 B At2 1,500 900 600
ONBUALASEO H&3 29 1,500
202 01| 9,000 9,000 0
01 2 0ibl 9,000 9,000 0
OFLUASKRAMY KT FHH Ol 9,000
307 212t0| & 212,000 209,000 3,000
2 QIZHAAALE R 12,000 9,000 3,000
OYASAHX LXK 12,000
04 QIZFHAIAIS B X 200,000 200,000 0
OHM33 2H ALIE OS2 stotg 200,000
308 Xt X|EHRISOI ™ 42,000 37,000 5,000
01 IXSHHBAEXZ 42,000 37,000 5,000
02N 224 AMNE B2 - OHEY 28 9,000
OYUASMACT XIDIB XA 28,000
OWEHZ ME=R - EHAIY X 5,000
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2A: MEASH
o LAY IIX HDSHSBHSSM/AY - aE
e AT ASES
“kl’é*—. ﬂ(suu) /<||~.-fea wge
& :q i o < 53 =2 = ‘—
403 I}II‘:*HI':X}EOW 10,000 50,000 240,000
01 AXSHHIEEX 10,000 50,000 240,000
OSEHI Xl MAAAE X 10,000
AHQEA MADIEEQI(RFE ) (=21) 5,000 5,000 0
= 2,000
== 3,000
202 GiH| 5,000 5,000 0
= 2,000
= 3,000
01 =2 O HI 5,000 5,000 0
O/ A MAIMA &ol XI&EEA oyl 5,000
= 2,000
== 3,000
AHQEAN MAIIAE SOl X R(21) 22,040 24,012 N1,972
= 15,200
= 6,840
308 AIXISHMSOIA 22,040 24,012 N1,972
= 15,200
== 6,840
01 AIXISHHEAEX 22,040 24,012 N1,972
OAH2kA MAA EH0I 22,040
= 15,200
== 6,840
AAES AES XIR(2D) 364,000 341,722 22,278
= 280,000
== 84,000
308 A XIEHSOIA 364,000 341,722 22,278
= 280,000
== 84,000
01 AIXSHHBAEZZ2 364,000 341,722 22,278
OYrE AEs XA 364,000
= 280,000
= 84,000
XEtHAAS THHH =22 (=1D) 271,669 124,719 146,950
= 246,700
== 24,969
403 XX SIS =0l A 271,669 124,719 146,950
= 246,700
== 24,969
01 AIXISHMAE2EX 271,669 124,719 146,950
ORIEH LS THHH &2l 271,669
= 246,700
= 24,969
ASI IS MACEX] (2 1) 1,800,889 2,150,817 349,928
= 1,433,530
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SH: MEAST

A 2L DX
el AEIR ASSE

403 XHXI CHHI S KH2 0| & 1,800,889 2,150,817 349,928
= 1,433,530
[ 367,359

01 I XISHA =S X 1,800,889 2,150,817 349,928
OMBESMACE =4 1,800,889
= 1,433,530
[ 367,359

ARESAACHT(2D) 1,359,821 1,182,915 176,906
= 1,046,017
[ 313,804

403 XHXISHHI S KH2 0l & 1,359,821 1,182,915 176,906
=2 1,046,017
[ 313,804

01 X ESHREEE 1,359,821 1,182,915 176,906
oME=SAALK =4 1,359,821
] 1,046,017
[ 313,804

QUAE MAD|BHEN(2D) 268,886 385,556 £116,670
=2 206,835
[ 62,051

403 XHXI SHH S XH2 0| & 268,886 385,556 2116,670
=2 206,835
[ 62,051

01 I ESHTEEX 268,886 385,556 116,670
OYMS MAD|BIEH 268,886
=2 206,835
-3 62,051

UMBREILEL(2D) 583,622 183,170 400,452
= 448,940
[ 134,682

403 XHXI SHYI S KH20| & 583,622 183,170 400,452
= 448,940
[ 134,682

01 HXSH =X 583,622 183,170 400,452
oYMNE REI|E =4 583,622
= 448,940
-3 134,682

M ESREHME(2D) 1,355,200 1,499,680 A 144,480
= 1,210,000
[ 145,200

403 XHXI SHYI S KH2 0| & 1,355,200 1,499,680 144,480
=2 1,210,000
= 145,200

01 HXSHREEE 1,355,200 1,499,680 144,480
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S GBASD
T PRNYY X HDBH(SBHYSN/YY - (&)
2 AS

=5 RIS PN;

 RA - a(3) . ﬁ,g%
T = T.355,200]

= 1,210,000
= 145,200

B2 FOIXE(2D) 1,289,863 1,376,939 A87,076
= 1,188,082
= 101,831

403 XHXIEHRIS X2 0| & 1,289,863 1,376,939 A87,076
= 1,188,032
< 101,831

0 RXSHREEE 1,289,863 1,376,939 A87,076
OS2 FOIAS X2 1,289,863
= 1,188,082
= 101,831

MEIF ASZAR X (2D) 1,500 1,500 0
2 1,500

308 XHXI EHHI S 01 & 1,500 1,500 0
2 1,500

0 AR SN ZSEES 1,500 1,500 0
OS2 ASTYAR XY 1,500
= 1,500

STHHE BRUE(XE)(2D) 5,000 5,000 0
= 5,000

202 01t 5,000 5,000 0
= 5,000

01 2Lhol ] 5,000 5,000 0
o=HE Bz Ol 5,000
= 5,000

STHHE BHC= NR(=2D) 5,000 5,000 0
2 5,000

308 XHXISHHI S O & 5,000 5,000 0
= 5,000

0 RXSHBNEES 5,000 5,000 0
o=HE Ba YREA 5,000
2 5,000

STHOIBHHLARSY (2 D) 15,900 15,990 0
= 12,300
< 3,690

308 XHXI SHRIS 01 & 15,990 15,990 0
2 12,300
= 3,690

0 XS HBNEES 15,990 15,990 0
OSTOISTULAR 2SS 15,990
2 12,300
= 3,690
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SA:
PSR B
cHe:

MNYAST

MBI IR HDEH(SHHSSL/YEY -

MR ASE

;}d -@’“‘ q-?—l(ﬁl}‘ll) HI—.—A}& Ege - e ﬁ,};jﬁ Hims2

S ‘E%a EZ‘(%S%%)(E.‘D_) 436,800 441,840 A5,040
= 312,000
T 124,800

403 RXIESH SN0/ 436,800 441,840 25,040
2 312,000
T 124,800

01 AXICMXE2X 436,800 441,840 A5,040
oOSHEAHLAY (FHE) 22 436,800
= 312,000
T 124,800

SHEAEYY PS(FUHIR)(2D) 28,600 13,000 15,600
= 22,000
== 6,600

403 R XIEHHIS X201 ™ 28,600 13,000 15,600
= 22,000
L= 6,600

01 RIS A2EE 28,600 13,000 15,600
OSHEIELH (FUHAE) B2 28,600
= 22,000
= 6,600

STHASAIEBUEH(=2) 448,000 784,000 336,000
= 400,000
= 48,000

403 MHXISHSHE20/E 448,000 784,000 336,000
= 400,000
== 48,000

01 RtXIEHMA2EE 448,000 784,000 336,000
OSMAHANE SEUS XS 448,000
= 400,000
L= 48,000

| KA ES(2D) 32,500 71,500 39,000
= 25,000
& 7,500

403 XSS KHE0IE 32,500 71,500 39,000
= 25,000
= 7,500

01 XX SR A2EX 32,500 71,500 A39,000
OAAIIANEH 22 32,500
= 25,000
& 7,500

SHISHEH ZH(=2D) 1,548,000 763,250 784,750
Xl 1,440,000
& 108,000

408 XHXISHH S XHE 0| & 1,548,000 763,250 784,750
N 1,440,000
< 108,000
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SH: MEASD
Fu: ZAMYC JIX DS SEHSA/LY - AE)
SR AR ASS CERED
01 IPII'-"UHIIPEE_’E 1,548,000 763 250 784,750
OosMHEZHEE =4 1,548,000
Xl 1,440,000
== 108,000
Lesd x4(31) 301,000 344,000 A43,000
Xl 280,000
S 21,000
403 XX EtH S X201 ™ 301,000 344,000 243,000
Xl 280,000
& 21,000
01 AXSHHMAE2EE 301,000 344,000 . 243,000
ouR=2d x4 301,000
Xl 280,000
== 21,000
LRS- FS &E 4,717,437 3,310,902 1,406,535
= 790,411
X 2,852,000
= 1,075,026
MBEE2SFEAALE T4zl 10,500 9,300 1,200
201 €er2gH| 1,500 900 600
03 & A2 EHI 1,500 900 600
OttE s A3 2 1,500
202 04 Hl 9,000 8,400 600
01 =AYl 9,000 8,400 600
OLIEEZSIFAANE Zdz2 RFA Ol 9,000
Toigsaa X4(=0) 2,275,000 1,410,500 864,500
X 1,750,000
S 525,000
403 X+ XIEHHIS X201 & 2,275,000 1,410,500 864,500
Xl 1,750,000
[ 525,000
01 AXISHHMA2EX 2,275,000 1,410,500 864,500
ONHFELE = 2,275,000
Xl 1,750,000
= 525,000
A2 = =4(21) 1,040,000 1,040,000 0
X 800,000
S 240,000
403 X XIEHHIS X201 & 1,040,000 1,040,000 0
X 800,000
E 240,000
01 HXISHMA=2Ex 1,040,000 1,040,000 0
OxRY = x4 1,040,000
X 800,000
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SN MPASD
HH: AN JIX DB (SHHLSA/AY - ME
e NME25 - 5 &Y (St &)
BN -EH-GR(3) - HSAY - BaS ofl &b
‘__|—“——— — — —— ¢ —570000 ]
MBMHAZ20 29(=21D) 299,847 389,258 289,411
= 230,650
[~ 69,197
308 KXISHHISOIH 299,847 389,258 289,411
= 230,650
< 69,197
01 AXSHBABEZ 299,847 389,258 A89,411
OMBEMHIAZEROl 2¢ 299,847
= 230,650
[~ 69,197
& AE2Y N (2D) 257,400 0 257,400
= 198,000
[ 59,400
308 XHXISHXI SO & 257,400 0 257,400
= 198,000
[ 59,400
01 RIXISHBABE 257,400 0 257,400
osHaIl Y2y X 257,400
= 198,000
= 59,400
AoEsey 28l He(=210) 55,250 55,250 0
= 42,500
[ 12,750
403 KRS S K201 55,250 55,250 0
= 42,500
[ 12,750
01 RHXISHX =2 X 55,250 55,250 0
OXNAE A ST AIEEIC 55,250
= 42,500
[ 12,750
S0tl&NS 8435 =X 18,000 18,000 0
308 XHXIEHXI S0 & 4,500 4,500 0
01 HXSHBALSEZ 4,500 4,500 0
ORII=NEE 1] 29 4,500
403 Rt SH S K201 ™ 13,500 13,500 0
01 AXISHHREEE 13,500 13,500 0
OROI=HER X4 13,500
SorEXMER =422(=1) 192,400 192,400 0
Xl 148,000
[= 44,400
403 KRS S X =201 192,400 192,400 0
Xl 148,000
[= 44,400
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FA AEASH
B YA JHX HDB(SHHSL/YAY - ME)
ool ME2s - Y FE el @|
2A - 2(E) - NRAY - BaS o &roy |
01 HXSHHRERE 192,400 192,400 T 0
OROI=MER =4 192,400
X 148,000
= 44,400
AHEMEIOIE Y UM (Z1) 225,240 196, 194 29,046
= 173,261
== 51,979
308 AtXI XS0 & 225,240 196, 194 29,046
= 173,261
= 51,979
01 AXtHBAEEZ 225,240 196, 194 29,046
OMEMEOIE 2 HUXN 225,240
= 173,261
== 51,979
SO0zL] 2 (S1) 143,000 0 143,000
= 110,000
< 33,000
308 AHXIEHHI S0l & 143,000 0 143,000
= 110,000
== 33,000
01 RXSHHBLEES 143,000 0 143,000
os0ixDs 29 143,000
= 110,000
= 33,000
MBIRXCA 2 (=2) 46,800 0 46,800
= 36,000
= 10,800
308 AtXIEHHISO0IE 46,800 0 46,800
= 36,000
= 10,800
01 AXESHBAEEXS 46,800 0 46,800
OUBXRNTA 22 46,800
= ,000
=3 10,800
DFEOHEDI (MR SXR0IE Z4)(2D) 154,000 0 154,000
X 154,000
403 XIS HSAH=01E 154,000 0 154,000
Xl 154,000
01 AXStHA2EE 154,000 0 154,000
OUEBRATIROIS T4 154,000
Xl 154,000
AR ME - BF Dls B3 1,515,900 1,657,500 A 141,600
Xl 1,143,000
=3 372,900
S22 2 Jalusga Z4(3D) 1,170,000 520,000 650,000
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[=]
e

=EE

©9: o8 88 83 Jls 58 Hel)
ﬂls'ixra -EAs ofl b ﬁg& I I:Il =2
- 7 00,000
< 270,000
403 XX EHHI S XHEO| & 1,170,000 520,000 650,000
7 900,000
< 270,000
01 X SHAEEE 1,170,000 520,000 650,000
ONLLSH U MYHBD X4 1,170,000
7 900,000
< 270,000
NYEe x4(21D) 315,900 1,137,500 ~821,600
T 243,000
< 72,900
403 Xt XIEHHI S XH= 0| & 315,900 1,137,500 ~821,600
7 243,000
= 72,900
01 HX SR EEE 315,900 1,137,500 ~821,600
oxwIY £4 315,900
7 243,000
= 72,900
TMASE X 30,000 0 30,000
403 XHEIEHAI S XH= 0 & 30,000 0 30,000
01 XS ERE 30,000 0 30,000
OESN HYASE WAR X4 - 29 30,000
BAS4R 2O X4 43,955,814 46,975,965 £3,020, 151
2 35,114,253
< 8,841,561
BABAR HI ZAAY F& 4,000 3,900 100
201 Er2 | 1,000 90 100
01 AL Zalt] 1,000 90 100
OBAE4E B ZAMY ADBEIY 1,000
202 1 H] 3,000 3,000 0
01 2H0iH| 3,000 3,000 0
OBAEAE =IO ZAMY O] 3,000
NEYUsA X2 8,000 7,400 600
201 ErS | 4,000 3,700 300
03 A2 Ul 4,000 3,700 300
A=Y WA XY 4,000
301 LerE AR 4,000 3,700 300
00 BARHIZAZ 4,000 3,700 300
oAlSY WA X 4,000
ZPAY 2H(HEF)(2D) 4,192,226 5,316,414 A1,124,188
2 4,189,726
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58 - G (SIH) - MRAR - BE

e Ol &+ o4 -
5 .

202 O{ 5,000 5,000 0
= 2,500
[ 2,500

01 2048l 5,000 5,000 0
OXUNY NEEZ 5,000
= 2,500
[ 2,500

206 X 2 bl 4,187,226 5,311,414 A1,124,188
= 4,187,226

01 M 2| 4,187,226 5,311,414 AT1,124,188
ozzg Ry 4,187,226
= 4,187,226

ZEANY =F NR(2D) 11,284,864 9,636,714 1,648, 150
= 9,006,300
= 2,278,564

403 T X SHH S XH=0| A 11,284,864 9,636,714 1,648, 150
=2 9,006,300
[ 2,278,564

01 AXISHHXELE 11,284,864 9,636,714 1,648, 150
oxaMNY =7 8,914,864
= 6,906,300
[ 2,008,564
OHTHYASHAY £ 2,370,000
= 2,100,000
S 270,000

HFMEIPI| 2F(HF)(2D) 10,000 10,000 0
= 5,000
[ 5,000

202 01| 10,000 10,000 0
= 5,000
[ 5,000

NERLE] 10,000 0,000 0
ONPIIANY =& XNEHZ Ot 10,000
= 5,000
[ 5,000

FMEIIPI| =7 XV (2D) 24,987,509 29,027,885 24,040,376
=2 19,228,206
[ 5,759,303

403 XX SIS X201 & 24,987,509 29,027,885 24,040,376
=2 19,228,206
[ 5,759,303

01 RIXISHHXELE 24,987,509 29,027,885 4,040,376
0N PIINY XA 24,987,509
= 19,228,206
= 5,759,303
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ﬁzm&w

m
n
a
o

- HaEZ

3, 201 189 2,774,899 426,290
2,477,971
723,218

403 A XISHH S AE01H 3,201,189 2,774,899 426,290
= 2,477,971
T 723,218

01 AIXSHMEEX 3,201,189 2,774,899 426,290
OS3AMEIIFIIAY =X 3,201,189
= 2,477,971
T 723,218

DEMAD|BIEZAE(21) 7,506 3,753 3,753
= 6,650
o 856

403 R XISHHSXE0|E 7,506 3,753 3,753
= 6,650
= 856

01 AXSHMAEEEE 7,506 3,753 3,753
ORSMA XI& 7,506
= 6,650
(= 856

SEMA Y THAIE(2D) 58,500 0 58,500
= 45,000
[ 13,500

403 AR SHMSAE01H 58,500 0 58,500
= 45,000
== 13,500

01 XIS EEE 58,500 0 58,500
OEZEMHIAIE 58,500
= 45,000
= 13,500

ADANLSEUEH(Z2D) 202,020 195,000 7,020
= 155,400
(= 46,620

403 XHXISHHIS =01 ™ 202,020 195,000 7,020
= 155,400
= 46,620

01 AIXSHHAE2EX 202,020 195,000 7,020
OLZAIEEHUS XA 202,020
= 155,400
T 46,620

MEA =MD X4 4,249,000 4,405,400 £156,400
Xl 2,745,000
| 640,000
= 864,000

TANE T4 (21) 3,598,500 4,205,500 A607,000
Xl 2,745,000
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SA: GEASD
Z: AANE IR
EI-_?_I AH 813 h:/\H.g_D

o= C /||

ST -?-l(ﬁlfﬂl) HsNg - Bas ' m,g% | Hmsw
53,5

207 1 T If L HI 30,000 0 30,000

NEEEET] 30,000 0 30,000
OZAYSS X4 B2AY 48 29 30,000

403 THXI S M S XH2 0| & 3,568,500 4,205,500 637,000
% 2,745,000
< 823,500

01 KX =2 E 3,568,500 4,205,500 637,000
CIENEJESS 3,568,500
% 2,745,000
= 823,500

MY =X 2R BISYEX 10,500 9,900 600

201 L et S| 6,500 5,900 600

01 AbR22It] 5,000 5,000 0
oMY =RRE BISY AR/ 5,000

03 #AIS b 1,500 900 600
OMEY=XISO0t Q&3 29 1,500

202 01| 4,000 4,000 0

01 2Uioitl 4,000 4,000 0
oME=RRz2 BISY Ot 4,000

AQHE =MTI X4(27) 640,000 190,000 450,000
b] 640,000

403 XHXIEHXI S K20l & 640,000 190,000 450,000
b 640,000

01 RHXSHHEEE 640,000 190,000 450,000
OALHS =MBY X4 640,000
I 640,000

N =RB &S 65,000 72,500 A7,500
= 50,000
< 15,000

o2 xsB2(22) 65,000 65,000 0
= 50,000
= 15,000

403 XIS H S RH20| & 65,000 65,000 0
= 50,000
= 15,000

01 KX S22 X 65,000 65,000 0
o==23 x4ne 65,000
= 50,000
< 15,000

AXIOIE Y9 =X 1,057,000 10,000 1,047,000

Mxol2YR £ 22,000 10,000 12,000
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M MRAST
CEH: 2N Il FDsHsEMHYsA/LY - ME)
Etel: AXI0I8 YR —’T‘—& (et 8E)
2K -3 %(suu) ldl PAY - EES ol aroy o HRE2
201 £er2g| 7,000 4,000 3,000
01 At 22/t 4,000 4,000 0
OUXOIESYR TIE2RAE =€ 4,000
03 A2 3,000 0 3,000
OutXi0lE 23 ||3s = 3,000
202 O1d| 15,000 6,000 9,000
01 =LHObI 15,000 6,000 9,000
O4tXoIESY R A 04l 15,000
NEEET YL 1,000,000 0 1,000,000
401 NI EHIZ20HYI 1,000,000 0 1,000,000
01 Al&€HI 990,000 0 990,000
OliSa sttt LAY 990,000
03 Al 20! 10,000 0 10,000
Ol St Atotara LAY 10,000
ASE UEFHY X4 35,000 0 35,000
401 Al HIZL 201 35,000 0 35,000
01 Al€HI 35,000 0 35,000
OXISt+=H& XA B 35,000
HE2HAL (AR AS)(OIEH/DIE) 194,316 61,144 133,172
= 38,088
= 156,228
QI A 127,448 0 127,448
= 38,088
== 89,360
ARE FEFEE B7E 2AHl N (=12) 127,448 0 127,448
= 38,088
< 89,360
101 12 H| 127,448 0 127,448
= 38,088
S 89,360
03 RIHAZ 224 127,448 0 127,448
oJlEs 1,830,654& *4H » 128 87,872
= 38,088
S 49,784
oz=2+g 87,872,000& *1/12%40% 2,930
OgiRsSFII=E 78, 1103 »4H »15& 4,687
OHEFIHI 87,872,0008 *1/12¢ 7,323
o©=4ll 130,000& x4 128 6,240
(©ME=1:]| 80,000 x4H 123 3,840
OHESHS(UUEEE) 97,952,0002 *14.86% 14,556
JlEg 66,868 61,144 5,724
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